What percent of global CO2 emissions are from the textile industry?
i. 35%
ii. 5%
iii. 10%
iv. 25%

b. What are some solutions to the fast fashion industry?
i. Buy less clothing
ii. Recycle different pieces
iii. Buy high quality pieces
iv. All of the above

What is the process that produces NO and N₂O? 
a. Oxidation 
b. Nitrification
c. Photosynthesis
d. Water cycle

What are the to main nitrogen compounds found in wildfire smoke that contributes to the 
formation of ozone? 
a. Nitric acid and Ethanol
b. Carbon dioxide and Carbon monoxide 
c. Nitrogen dioxide and Ammonia
d. Ammonia and Nitrogen oxide

What pollutants are released into the air from cow urine?
a. Ammonia
b. Nitrous oxide
c. Nitrogen
d. A and B

2. What kind of pollution do cows cause?
a. Soil
b. Water
c. Air
d. All of the above
About how many gallons of oil were spilled at the Deepwater Horizon Spill?
a. 85 million
b. 103 million
c. 134 million
d. 172 million

What is an oil boom?
a. A mass production in oil
b. A method of controlling oil spills by using a fence like container which traps the oil
c. A massive oil spill
d. Oil that lights on fire and then makes a “BOOM” noise


